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QUESTION 1

What does Mist\\'s patented 16-element vBLE Antenna Array do when "engagement” is enabled?
A. performs radio resource management

B. locates Wi-Fi assets

C. transmits unique and directional BLE beams

D. performs personal pre-shared key sharing

Correct Answer: C

Reference: https://www.mist.com/resources/ap61-access-point/

QUESTION 2
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Referring to the exhibit, which statement is correct?

A. Coverage issues are mainly attributed to Asymmetry Uplink.

B. Time to Connect failures are mainly attributed to DHCP issues.
C. Successful Connects are failing 89% of the time.

D. Time to Connect is successful 67% of the time.

Correct Answer: D

QUESTION 3
Which statement is correct about wireless assurance?

A. Wireless assurance is a legacy WLAN construct that is difficult to use.
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B. Wireless assurance can be used to proactively optimize WLAN performance.

C. Wireless assurance is used by clients to ensure that a Wi-Fi connection is stable and reliable before joining.

D. Wireless assurance does not require a subscription.
Correct Answer: B

Reference: https://www.juniper.net/us/en/products/cloud-services/wi-fi-assurance.html

QUESTION 4

What are two advantages of lower modulation methods? (Choose two.)
A. Lower modulation provides higher total aggregate throughput.

B. Lower modulation provides higher data rates.

C. Lower modulation is more robust against signal corruption.

D. Lower modulation can achieve greater range.

Correct Answer: CD

QUESTION 5

A WxXLAN policy does not appear to be working as intended. You determine that a rule further down the list is not being

executed. What is the problem in this scenario?

A. The external policy server has intermittent connectivity to the dashboard.

B. There is a problem with the labels.

C. The WXLAN policy supports a limited number of rules; you have too many rules.

D. The first rule in the list that matches will execute; the other rules will not be considered.
Correct Answer: D

Reference: https://www.mist.com/documentation/wxlan-policy/
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